. REVISIONS
367 MAX. PANEL WIDTH —=
BATTEN . REV DESCRIPTION DATE APPROVED
PLYWOOD BATTEN 47 MAX. —— 9 1/2" MAX.
6” WIDE x 3/4” THICK ) : O0.C. TYP. | .— 4” MAX . A REVISED SYSTEM AND NOTES 06/24/WW R.L.
¢ ﬂ B ADDED SILL INSTALLATION OPTIONS 08/29/H R.L.
—& 2 2 B & & & B
8” MAX. \
s‘ ()
oo o s
A NOTES:
N 1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH REQUIREMENTS OF THE 2006
2 1/2" | | INTERNATIONAL BUILDING CODE AND 2006 INTERNATIONAL RESIDENTIAL CODE WITH TEXAS STATE MODIFICATIONS.
21 1/2" MAX. . ] 2) WOOD FRAMING AND MASONRY OPENING TO BE DESIGNED AND ANCHORED TO PROPERLY TRANSFER ALL LOADS
0C. TYP. 1 /2 »‘ 4 1/27 MAX. TO STRUCTURE. FRAMING AND MASONRY OPENING IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF
~1_| 0cC. TYp. RECORD.
| 3) ALLOWABLE STRESS INCREASE OF 1/3 WAS NOT USED IN THE DESIGN OF THE PRODUCT SHOWN HEREIN. WIND
o LOAD DURATION FACTOR Cd=1.6 WAS USED FOR WOOD ANCHOR CALCULATIONS.
R @E E_% Eﬁ 4) MATERIAL: ALL COMPONENTS ARE FORMED STEEL. SEE COMPONENTS SHEET 2 FOR GRADE AND THICKNESS.
’ 5) SHUTTER PANEL MUST HAVE A 17 MINIMUM SEPARATION FROM EXISTING GLASS.

o 6) FOR ANCHORING RECEIVER OR HOOK INTO GROUT FILLED HOLLOW BLOCK/CONCRETE USE 3/16” ITW TAPCONS
| 80" MAX WITH SUFFICIENT LENGTH TO ACHIEVE A 1 3/4” MINIMUM EMBEDMENT INTO SUBSTRATE WITH 1 MINIMUM EDGE
| SANEL DISTANCE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.

\ HEIGHT 7) FOR ANCHORING BOTTOM STOP INTO CONCRETE USE 1/4” ITW TAPCONS WITH SUFFICIENT LENGTH TO ACHIEVE

O A 1 3/4” MINIMUM EMBEDMENT INTO SUBSTRATE WITH 2 1/2" MINIMUM EDGE DISTANCE. LOCATE ANCHORS AS

i SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.
5/8” MIN. J e 8) FOR ANCHORING RECEIVER OR HOOK INTO 2X WOOD FRAMING USE #10 WOOD SCREW WITH SUFFICIENT LENGTH
THICK gle [ e® ot TO ACHIEVE A 1 3/8” MINIMUM EMBEDMENT INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND
PLYWOOD \ INSTALLATION DETAILS.
\ 9) FOR ANCHORING BOTTOM STOP INTO 2X WOOD FRAMING USE 1/4” LAG SCREW WITH SUFFICIENT LENGTH TO
I ACHIEVE A 1 1/2” MINIMUM EMBEDMENT INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND

o INSTALLATION DETAILS.

| 10) FOR ANCHORING HANGER, BOTTOM STOP OR TOP AND BOTTOM LATCH INTO WOOD SHUTTER SYSTEM, (5/8”
N THICK MINIMUM), USE #10 WOOD SCREW WITH SUFFICIENT LENGTH TO ACHIEVE A 5/8” MINIMUM EMBEDMENT
B | INTO PANEL. CENTER LATCHES USE #10 MACHINE SCREW WITH NUT AND WASHERS. MACHINE SCREW MUST
! . ACHIEVE 3—THREADS BEYOND NUT MINIMUM ENGAGEMENT. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND
%”3 | E% Eﬁ INSTALLATION DETAILS.
) I = 11) ALL FASTENERS TO BE CORROSION RESISTANT.
8" MAX. ﬂ[w TYe. 12) INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR MANUFACTURER’S INSTALLATION
d ol bd - INSTRUCTIONS, AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM
f f ; STRENGTH SPECIFIED BELOW:
47 MAX. = =~ 47 - 47 MAX. A. WOOD — MINIMUM SPECIFIC GRAVITY OF G=0.42
147 MAX. B R Y B. CONCRETE — MINIMUM COMPRESSIVE STRENGTH OF 2,000 PSI.
0.C. TYP. C. MASONRY — GROUT FILLED HOLLOW BLOCK.
HURRICANE SHUTTER SYSTEM MULTIPLE PANEL

FLUSH MOUNT HARDWARE
EXTERIOR VIEW
DOUBLE UNIT SHOWN, UNLIMITED NUMBER OF PANELS ARE APPROVED AS LONG AS
INDIVIDUAL PANEL SIZE DOES NOT EXCEED PANEL SIZE SHOWN HEREIN

SIGNED: 08/31/2011

DESIGN PRESSURE RATING IMPACT RATING
NORSE, INC.
LARGE AND SMALL
+45PSF 100 SOUTH ROAD
MISSILE IMPACT TORRINGTON, CT 06790
TABLE OF CONTENTS HURRICANE SHUTTER SYSTEM MULTIPLE PANEL
FLUSH MOUNT HARDWARE — IMPACT
SHEET NO. DESCRIPTION ELEVATION, ANCHORING LAYOUT AND NOTES
1 ELEVATION, ANCHORING AND NOTES SETSITR Swe o v
2 COMPONENTS TJH 08-01226 B Luis R. Lomas P.E.
3 — 5 | INSTALLATION DETAILS SCALE NTS DATE 03 /21 /11 SHEET{ OF 5 Texas No. 101889

=



2 15/16”

4X 20679
BN r 1/4”

J
3/8” # 1 W$/64”

LATCH RH-S51500-1R-750
FORMED C1008, C1010 OR C1018 STEEL
ZINC PLATED .050" THICK

L

- 35/64"

2 15/16"

4% 20679
DN ,

%

1,/64"

3/8" - 1

LATCH LH-S1500-1L-750
FORMED C1008, C1010 OR C1018 STEEL
ZINC PLATED .050" THICK

REVISIONS

DESCRIPTION

DATE

APPROVED

A REVISED SYSTEM AND NOTES 06/24/11 R.L.

B ADDED SILL INSTALLATION OPTIONS 08/29/11 R.L.

] 1 -
—— . L
e e e . DA
¢ ¢ $ 1 3/4” NORSE—USA f
e Nggig I 5/w 6” HNG/S2 ‘
1 /4 P e o 1 1/64 °© 9 I WINES
4 5/8 )
2X .203"¢ . / ;j 167 " %
11/64" J= ] 2X 20379 /16" — W
BOTTOM BRACE BB1 HANGER - SHUTTER HNG/S2
FORMED C1050 STEEL FORMED C1050 STEEL
ZINC PLATED .125" THICK ZINC PLATED .093" THICK
—] 1 5/8" |~
5/16" — 17 T 1/47
| 9/32" — 1 /16"
5167, § o / ’
st 1)) oy T
TfO O ,
v —[ W/ZL” £81410 Egng 7/8 w 3/8” ~
12.5°7 [ 3/16" 1 1 1/64"
A3/
SILL BRACE SBK-1 3/16" — |— ! bt o !
FORMED C1051 STEEL ‘ ()20 1 3/32
ZINC PLATED .105" THICK 1/4” B

BIG RECEIVER BOTR-1

FORMED C1050 STEEL
ZINC PLATED .050" THICK

L —
9/16" ()| 23/84
T

L f 2X .2207¢

RECEIVER OTR187
FORMED C1050 STEEL
ZINC PLATED .050" THICK

‘« 43/64”

‘

27,/64”

HOOK - SHUTTER HK/S2
FORMED C1050 STEEL
ZINC PLATED .093" THICK

NORSE, INC.

100 SOUTH ROAD
TORRINGTON, CT 06790

HURRICANE SHUTTER SYSTEM MULTIPLE
PANEL FLUSH MOUNT HARDWARE — IMPACT
COMPONENTS

DWG NO.
08-01226

SHEET2 OF 5

Luis R. Lomas P.E.
Texas No. 101889

DATE 03 /21 /11



REVISIONS

REV DESCRIPTION DATE APPROVED

. 2X FRAMING
1.1/27 MIN. BY OTHERS A | REVISED SYSTEM AND NOTES 06/24/11 |R.L.

EMBEDMENT

EXTERIOR FINISH INTERIOR FINISH
BY OTHERS \/_v /v/ BY OTHERS

#10 WOOD SCREW
(2) PER HOOK

| __— sTOP
N ] BY OTHERS
5/8” THICK

| MIN. PLYWOOD

B ADDED SILL INSTALLATION OPTIONS 08/29/11 R.L.

HOOK HK/S2

HANGER HNG/S2

™7  —
410 PH SMS EXTERIOR
‘ EXTERIOA
SHEET 1 ! (4) PER LATCH —
|
NANNNNAY
| LATCH N | | EXISTING WINDOW
EXTERIOR s I ! / OR DOOR
—_ INTERIOR NN
5/8" MIN - RECEIVER OTR 187 ARG —
THICK PLYWOOD - \
‘ ~ | TT7T——— SILL BRACE
SBK—1
| \ I I
#10 PH MS WITH | | @ S~ T #10X1” PH SMS
NUT AND WASHERS (2) PER BRACE
(2) PER STOP
ShE NOTE 10 11/2” MIN \ WOOD SILL
SHEET 1 - :
#10 WOOD SCREW CMBEDMENT

(2) PER RECEIVER

T VERTICAL CROSS SECTION
2X FRAMING SILL INSTALLATION (OPTIONAL)

11/2” MIN.
EMBEDMENT

¢

BOTTOM BRACE BB1
INSTALL INSIDE

OR OUTSIDE

#10 WOOD SCREW
(2) PER STOP

2X FRAMING
VERTICAL CROSS SECTION 7)1
2X FRAMING INSTALLATION NORSE, INC.

100 SOUTH ROAD
TORRINGTON, CT 06790

HURRICANE SHUTTER SYSTEM MULTIPLE
PANEL FLUSH MOUNT HARDWARE — IMPACT

INSTALLATION DETAILS

DWG NO.

08-01226
DATE 03 /21 /11 SHEETZ OF 5

Luis R. Lomas P.E.
Texas No. 101889




1 3/4” MIN.
EMBEDMENT

3/16" ITW TAPCON
(2) PER HOOK

CONCRETE
BY OTHERS

!

17 MIN.
EDGE DIST.

2
<
A 4

HOOK HK/S2 i i
— |
HANGER HNG/S2 ™
| |
#10 PM SMS |
(2) PER HANGER EXISTING WINDOW OR
SEE NOTE 10 | DOOR BY OTHERS
SHEET 1 |
| STOP
| BY OTHERS
EXTERIOR/ 0 ]
5/8" MIN. INTERIOR
THICK PLYWOOD
| |
#10 PH MS WITH |
NUT AND WASHERS
(2) PER STOP
SEE NOTE 10 | |
SHEET 1 | |
BOTTOM BRACE ¢
o 1 3/4” MIN
INSTALL INSIDE / :
OR OUTSIDE EMBEDMENT
1/4” LAG BOLT
WITH INSERT ,
ANCHOR - 2 1/2" MIN. EDGE DIST. — CONCRETE
(1) PER STOP FLOORING
BY OTHERS

VERTICAL CROSS SECTION

CONCRETE INSTALLATION

REVISIONS

REV DESCRIPTION DATE APPROVED

A REVISED SYSTEM AND NOTES O6/24/H R.L.
B ADDED SILL INSTALLATION OPTIONS 08/29/ﬂ R.L.
5/8” THICK
////MN.F%YWOOD
EXTERIOR
EXTERIOR -
|
410 PH SMS |
(4) PER LATCH INTERIOR
LATCH “\\\\\\\\\\\f
|
N | | EXISTING WINDOW
OR DOOR
RECEIVER OTR 187 I
\\\\ L “ SILL BRACE
‘ : ) SBK—1
\f@ . . 3/16"X1 1/4” TAPCON
| (R . .a (2) PER BRACE
AJ// MASONRY SILL
3/16” TAPCON 1.3/4" MIN.
FMBEDMENT

(2) PER RECEIVER

VERTICAL CROSS SECTION

MASONRY SILL INSTALLATION (OPTIONAL)

NORSE, INC.

100 SOUTH ROAD
TORRINGTON, CT 06790

HURRICANE SHUTTER SYSTEM MULTIPLE
PANEL FLUSH MOUNT HARDWARE IMPACT
INSTALLATION DETAILS

DWG NO.

08-01226
SHEET4 OF 5

Luis R. Lomas P.E.

Texas No. 101889

DATE 03 /21 /11



INTERIOR FINISH
EXISTING WINDOW OR ST OTHERS
DOOR BY OTHERS

INTERIOR

STOP
BY OTHERS $

5/8” MIN. -= - - )
THICK PLYWOOD 11/2” MIN.
‘ EMBEDMENT

1 7 —

@’*\ EXTERIOR
#WO WOOD SCREW

#10 PH SMS
(4) PER LATCH LATCH Eﬁ]EEOR
SEE NOTE 10 RECEIVER (2) PER RECEIVER
SHEET 1 oTR ey

HORIZONTAL CROSS SECTION
2X FRAMING INSTALLATION

EXISTING WINDOW
OR DOOR

INTERIOR
EXISTING WINDOW OR 1.5/16” MIN.
DOOR BY OTHERS XED@E DIST.
- - R GROUT FILLED
HOLLOW
BLOCK,/CONCRETE
— BY OTHERS
BY OTHERS
5/8" MIN. |
THICK PLYWOOD
1 3/4” MIN.
EMBEDMENT
EXTERIOR
#10 PH SMS LATCH -
(4S)EEF>ENROTLQT?S RECEIVER e
2) PER RECEIVER
SHEET 1 OTR 187 2) g

HORIZONTAL CROSS SECTION
GROUT FILLED HOLLOW BLOCK/CONCRETE INSTALLATION

2X FRAMING
BY OTHERS

BY OTHERS

REVISIONS

REV DESCRIPTION DATE APPROVED
A REVISED SYSTEM AND NOTES O6/24/H R.L.
B ADDED SILL INSTALLATION OPTIONS 08/29/ﬂ R.L.
EXISTING WINDOW OR
DOOR BY OTHERS \ INTERIOR
|
|
5/8” THICK o o o o
MIN. PLYWOOD \
|
PLYWOOD BATTEN F
6" WIDE x 3/4" THICK \;; : Qt
#10 x 1 5/8” V EXTERIOR
WOOD SCREW FASTENERS
4" MAX. 0O.C. (4) PER LATCH BIG RECEIVER
(2) ROWS IN A SEE NOTE10 LATCH BOTR—1
STAGGERED PATTERN SHEET 1

HORIZONTAL CROSS SECTION
BATTEN INSTALLATION

NORSE, INC.

100 SOUTH ROAD
TORRINGTON, CT 06790

HURRICANE SHUTTER SYSTEM MULTIPLE PANEL
FLUSH MOUNT HARDWARE — IMPACT
INSTALLATION DETAILS

DWG NO.

08—-01226

SHEET5 OF 5

DATE 03 /21 /11

Luis R. Lomas P.E.

Texas No. 101889



	08-01226B 1 (1)
	08-01226B 2 (1)
	08-01226B 3 (1)
	08-01226B 4 (1)
	08-01226B 5 (1)

